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𝑎 = 𝑏 × 𝑐

× 10 ÷ 2

× ×
÷ ÷

= ÷ ÷ =

36

9 9 9 9 𝑐 ÷ 3 = 𝑑
5𝑝 = 𝑔

Multiplication makes numbers bigger

You cannot multiply or divide by 0

1 × 𝑦 = 𝑦

𝑎 × 𝑏 = 𝑏 × 𝑎

𝑎 ÷ 𝑏 = 𝑏 ÷ 𝑎𝑎 × 𝑏 × 𝑐 = (𝑎 × 𝑏) × 𝑐
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___ × ___ = ___

___ × ___ = ___

× ÷ × ÷

𝑥

10
= 5.8 100𝑦 = 4 1.18 × 𝑧 = 1180
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1

10
?

× 0.1 ÷ 10

63 × 0.1 = 63 ×
1

10
= 63 ÷ 10 =

603 × 0.1 = 603 ×
1

10
= 603 ÷ 10 =

603 × 0.01 = 603 × = 603 ÷ =

× 1

× 0.1

× 0.01

÷ 10

÷ 100

÷ 1 ÷ 0.1

82 × 0.1 802 ÷ 10 80.2 ÷ 100

8.2 × 10 82 ÷ 100 80.2 × 0.01
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×

6.4 × 24 = 2.4 × 64.

× =

× × ×

17 × 8

1.7 × 8 0.17 × 8 0.8 × 17 0.8 × 0.17

43 × 9.9
• 43 × 99 10
• 43 × 10 43 × 0.1
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8808 ÷ 24 8808 ÷ 6

.
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341 ÷ 2

341 341.0 341.00

6𝑏 = 72.6

3𝑎 = 411 3𝑎 = 41.1 3𝑎 = 4.11

4𝑐 = 0.9 12𝑑 = 96.9

3𝑎 = 0.411

𝑒 =
36.8

8

£61.60 ÷ 8 ÷ 2 £61.60 ÷ 4 ÷ 4 £61.60 ÷ 2 ÷ 2 ÷ 2 ÷ 2

34.7 ÷ 8 34.7 × 8 34.7 × 0.8
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− + − =

−

+ ×

− ÷ = − + =

× + = − + =

− = × + ÷ =

× + ×

+ × × − − −

+ × × + + ×

+
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1

2
𝑎 + 𝑏 ℎ

1

2
× (𝑎 + 𝑏) × ℎ
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2𝑎 × 3𝑏 2𝑎 + 3𝑏

6𝑥𝑦.

𝑎 × 2 2𝑎 𝑎2

4𝑥

𝑧
z(3𝑥 + 4𝑧)

3

4
𝑥 𝑥𝑧

𝑥 = 7 𝑧 = 3

𝑥 𝑧

2 × 6
2𝑎 × 6
2 × 6𝑏
2𝑎 × 6𝑏

15𝑎2 ÷ 3
15𝑎2 ÷ 𝑎
15𝑎2 ÷ 3𝑎
15𝑎2 ÷ 3𝑎2

20𝑐𝑑 ÷ 4
20𝑐𝑑 ÷ 4𝑑
20𝑐𝑑 ÷ 4𝑐
20𝑐𝑑 ÷ 4𝑐𝑑

4𝑎𝑏 𝑎𝑏4 𝑎4𝑏 2𝑎2𝑏 4𝑏𝑎

24𝑑𝑒

2𝑒

3𝑑 × 4

12𝑑3

4𝑑2 × 3𝑑𝑑 × 3 × 4𝑑2𝑑 × 6𝑑

36𝑑2

36𝑑2 + 6𝑑2 48𝑑 ÷ 4


